AP Physics 1 — Uniform Circular Motion HW

(Complete problems 1(a), 2, and 3)

(I) A child sitting 1.10 m from the center of a merry-go-
round moves with a speed of 1.25 m/s. Calculate (a) the
centripetal acceleration of the child, and (b) the net hori-
zontal force exerted on the child (mass = 25.0 kg).

(1) A jet plane traveling 1890 km/h (525 m/s) pulls out of
a dive by moving in an arc of radius 6.00 km. What is the
plane’s acceleration in g's?

(1) Calculate the centripetal acceleration of the Earth in
its orbit around the Sun. and the net force exerted on the
Earth. What exerts this force on the Earth? Assume that
the Earth's orbit is a cirele of radius 1,50 % 10" m. [Hine:
see the Tables inside the front cover of this book. |



